

















































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































13

WA30..

LS

—

63 05

112

LBS

LB

143

20 018 00 06

63 g5
05|

RS ,
=
. 4
18]l
ADS
63.5 AD
116 2.5
[{o]
1 \ =
i % | Eae
S B 12
1 ‘ PN L
L
% 25.5
90
107

9 20 H7
6 , 60.5  60.5
o ¥
b — — |
N s b
©
N
ISO 4017 11 ©
M6x16-8.8 106
(1@ 129) DR63.. DR71S DR71M DRS80S
AC 132 139 139 156
AD 105 119 119 128
ADS 105 129 129 139
L 324 335 360 364
LS 379 403 428 445
LB 149 160 185 189
LBS 204 228 253 270

658

— DR-GM 01/2008




W..DR

W..DR.. [mm]
W37 20 01500 07
. LS ADS
L ‘ AD
63 .95, 144 LBS | 102 102
91 LB 116
K L 18
q =l A o i -
S — & ju = .o o ! =
~| o R L= g = 2
e f /) Tl 2 py IRy 7 StE
[ 4‘_ =7/ - b o
-] o OV o T I o
o a L [aY]
8? © ’ 29 N 24 «
32| | © 90 | 57
sl | 107_|
70
o1 40
6 32 | 4
. !
O G=
DIN332 ) | &
DR M6 ®
WA37B.. WH37B..
| 63.5 , 60.5 60.5
58 |25 58 |25
T
=
3 A4 Ajklgi:,
[S) o B B
o[ 9
L
o 25 H7 o 20 H7
8 605, 60.5 6 605, 60.5 795 | 605
24 \ 195
+ (n. 'J,' |
R,;@} — =1 | N —— 1 | t-—=41 [ |
o 53{ Io‘ 8 S | 8
S0 4017 17 2{ ® IS0 4017 8 Sl = S Sl e
M10x25-8.8 105 M6x16-8.8 105 29 25 ﬂ
& &
(a\] (a\]
o Q
(- []129)| DRe3.. DR71S DR71M DR80S DR8OM DR9OM DR9OL
AC 132 139 139 156 156 179 179
AD 105 119 119 128 128 140 140
ADS 105 129 129 139 139 150 150
L 398 409 434 443 474 476 498
LS 453 477 502 524 555 569 592
LB 191 202 227 236 267 269 291
LBS 246 270 295 317 348 362 385

- DR-GM 01/2008

659



W..DR

W..DR.. [mm]
20 018 00 07
WHF37..
LS
L |
203 BS |
144 LB
ﬂ %; =
X bo || .Y [ — S
SE w T [ /
ol \a % i e==12
<
(S}
o120 o 160
88 605, 195 88 605, 345
|| s | s
s Tles
el B = o & st Ly ol g
Q R ‘; S} - | =
‘ S v ‘ S
795, 605
24 | 195
frrr )
& sl
o o o
N S e
29 25
o o
[aV] N
[ [
(1@ 129) DR63.. DR71S DR71M DR80S DR80OM DR90OM DR90OL
AC 132 139 139 156 156 179 179
AD 105 119 19 128 128 140 140
ADS 105 129 129 139 139 150 150
L 394 405 430 439 470 472 494
LS 449 473 498 520 551 565 588
LB 191 202 227 236 267 269 291
LBS 246 270 295 317 348 362 385

- DR-GM 01/2008

661




20 017 00 07

WA37..
LS 18
L |
203 Bs |
(o)
144 LB 58 =
//, %— B\ =\
.\ —
r Y =2 -
Q I == L Ti 3
S B
AD s
ADS 3
4.
Y B0,
WA37.. WH37..
88, 60.5
125 25
S
2 — |
g te-1H
o 25 H7 o 20 H7
8 605, 60.5 6 605, 60.5 795 | 605
24 |195
.'t —_——
s €y EoT tE oY
Il T ~ = i1
2 P e
IS0 4017 17 ® al ®
M10x25-8.8 105 29 25
o Q
(> [[]129)  DRes3.. DR71S DR71M DR80S DR8OM DRIOM DRIOL
AC 132 139 139 156 156 179 179
AD 105 119 119 128 128 140 140
ADS 105 129 129 139 139 150 150
L 394 405 430 439 470 472 494
LS 449 473 498 520 551 565 588
LB 191 202 227 236 267 269 291
LBS 246 270 295 317 348 362 385

662

— DR-GM 01/2008
















































































































Drive Technology \ Drive Automation \ System Integration \ Services

How we’re driving the world

With people who With comprehensive With uncompromising
think fast and With a worldwide With drives and controls knowledge in virtually quality that reduces the
develop the service network thatis  that automatically every branch of cost and complexity of
future with you. always close at hand. improve your productivity. industry today. daily operations.

SEW-EURODRIVE
Driving the world

£ TR
With a global presence With innovative With online information
that offers responsive technology that solves  and software updates,
and reliable solutions. tomorrow’s problems via the Internet, available
Anywhere. today. around the clock.
EURODRIVE
SEW-EURODRIVE GmbH & Co KG

P.O. Box 3023 - D-76642 Bruchsal / Germany
Phone +49 7251 75-0 - Fax +49 7251 75-1970
sew@sew-eurodrive.com

— www.sew-eurodrive.com



